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See Video for step-by-step  
solutions to each problem.

−5

x + 9

x + 3x − 6

2x

2x

x= 12

= 4

= 12

= 205 = 

= 10

−8

+6

x  =  6

x  =  2 x  =  9

x  =  3

x  =  17

12  =  4x

or

or

x  =  3

x  =  11

3  =  x

11  =  x

x  =  30

−5

−9

−3+6

+2x

+2+2

+2x

-5 -5
2x + 5 = 9

+6

−9

−3

−8

+6

2

2

2

3

4

44

3
(3) (3)2

2

2

(5)

(x - 2) (x - 2)

28  = 4(x - 2)

7  = x - 2

(5)3

4

© 2015 Math Plus Motion, LLCwww.mathantics.com

Name:
Date:

®

Exercises

Solving 2-Step Equations
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